MET—2

10T BF50mB Az ot
[:4iv2 K& i S LS e
&S  # U MVERAR ha 29.74
2R Fik EEscC 4 30.76
3|k E# TYTEN ha 33.46
4| EEFBEAAD U MVERAR 4 33.59
5| B8 KXE #BiEs c N4 33.94
6|8k B HyHISC N4 34.56
7| R KREBID wzD C NG 34.96
8| A+ A& AN =IFHT Iha 35.22
9|8F%F = H$HISC N4 35.27
108K #51= KSGEI ha 35.43
12l &3 SISV 4 35. 61
121 /v =38 SEEKIKEE /N3 35. 69
13| %% =E J—kscC ha 35. 80
14| FIER RE SEEKKHE /N3 35. 87
15 &% 18 GSMEETER 4 36.18
16 | ATE &iE KSG®Eit iy 36. 34
17 & %X ifzD C ha 36.35
18 | #1BY  HEbk KSGEI ha 36. 56
19|18 BE J—kscC N4 36. 91
20t fAth EESscC N2 36. 95
21| B8 1B TSROV ha 37.03
22| #XE  fEth XESS N3 37.41
23 | kB BB KSGHit N 37.57
24| Byl HRZ XESS N4 38.49
25| AL B XESS I3 38.53
26| RE 8 HHISC I3 38. 66
27 | Ex # KSGHEi 4 38. 89
28| %8 X KSG®it iy 39.10
29 | R AR#EX TSR NG 39. 30
30| 4EA  {EX E#scC N5 39.33
31| #HIR B! FAIAIVY ha 39. 41
32| KEH —# TOTER N3 39.56
33| BIERER / fi AN =IFHT I3 39. 71
| 1kE BE SERKKHE 4 41.00
35| EHEEKXER #EFSs C N3 41.04
36| =B EM KSGHI N3 41.24
37| 7k BEX U MVERAR I3 41.52
B|EE B SEEKKHE A 42.30




MET—2

10 LLTF BF50mE R oot
[:4iv2 K& i S LS e
39|\ EEfC iifzs C N4 42.33
40 | 1k < RE%EA XESS 4 42.50
41 | EEEE AR XESS N4 42.68
42| INEFFf st KSGHEI I3 42.79
43| AiTE #— SERKKHE I3 42.91
4 =8 KSGHit N3 43.05
45| g i) #EFS C N3 43.42
46 |BOiE [BE XESS N2 43.69
47 |1k BRE XESS N1 43.73
R R AP N SERKKHE I3 43.93
49| E5H EBE KSGHit N2 44.52
50 [Ex 123 KSGHIt N3 44.75
51 B @A #BEsC N2 45.18
52| AE # KSGEI N3 52.83
53| R &H— KSGHEi N2 57.65
54 |1k BRI KSGRit N2 1:08.10
KKK | LR & KSGHit N4 e




HET—4
108 LT BF50me kX sott
172 K& iR HE LS e
1| %%k E# T TER ha 36.10
2| g EE EEscC 4 37.95
3| Fik J|H TSRV 4 38.50
4| EEFBEAAD U MVEAR Iha 38. 68
5@ B&F KSGHit N4 39.09
6| &L Hth #EmSs C ha 40. 89
T I\BIREE BRSsC N4 41.13
8| KA #HK XESS N4 41.18
9| /iy =3 SERKKHEE IN3 41.45
10[;thE fhth RS C Ih2 42.20
11| fTER RE SEEKKHE /N3 42.33
12|12 BE J—ksc N4 43.27
13 &=E 122 GSMETEIR Iha 43.32
14| #0B8  HEbk KSGEI ha 44.08
15| B &5 TSRV 4 44.26
16| FE# X KSGHIt ha 44.90
17|#8 #ZX KSGHEi a4 44 94
18|#2@ fEth XESS N3 45.02
19| Ik £E XESS 4 45. 64
20 BB EN KSGHIt N3 47. 67
21| /TA  #— SERKKEE I3 48.00
2|[REs @ SEEKKHE A 48. 36
2| % R& #EFS C N3 49. 48
24 %0 @A #EHS C Ih2 49. 71
25|28 & KSGHEit N3 50. 67
26| FE RE TSRV M 51.30
21\ JIE X KSGHEi 4 54.93
XK | iRt —ER #BRES C N4 EiE
KIOK | I —3E YYD M4 k37
PP A% N (973 J—kscC N4 e




MET—2

108 LT BF50mIEk X it

[:4iv2 K& i S LS e
&S  # U MVERAR ha 38.52
VAR IITI::t2) U MVERAR 4 43.67
3| FER EE B S c NG 43.70
4| \EIREE EFSsC INa 44. 74
5/FE RX ifzD C ha 45.53
6| AFE KX KSGEi ha 45. 64
T7|KE —# TYOTEN N3 46. 44
8|HER X= wfzD C N3 46.83
9|MHiR B® 324305 M4 47.07
10/fR = YHISC N4 47. 26
11:E% B2 GSMETER 4 47.74
12| #2H it XESS N3 48. 41
13| FER 1RE SERKKEE I3 49.03
13[88K  #51= KSGEI ha 49.03
15| KB #HK XESS N4 49. 04
16 | B HEXER #BRES C I3 49.58
17168 BE SERKKEE ha 49.63
18| &R & s c ha 49. 94
19| F% 2 HyHISC ING 50. 65
20 | HEARHI A BA SEHEKIKBE /N3 50. 90
20 E#E X KSGHit N4 50. 90
22 | R AR TSRy ha 51.02
23| Bl #®Z XESS N4 51.62
24 | TR SRR SEAKKHE Iha 51.65
25| AL B XESS I3 52.08
26(1LO  #8X XESS Ih2 54.06
277l BEX VAR N3 54.47
28|[REA EHK SERKKHE Ih2 55. 65
29| %0 B #BrES C I3 56. 96
0L BX KSGHEI ha 57.60
N|AE 8B KSGEI N3 58.18
32| FE RE TSRTY INT 1:00. 51
33| B [BE XESS N2 1:00. 67
M| ER 123 KSGRI N3 1:04.95
3B |FH ELE KSGHit N2 1:07.29
36 | e BRI KSGRit N2 1:19.15
3| ER H— KSGHEI h2 1:25.52

XXX | ke & KSGHit N4 e




MET—2

. o 41
10 LI BZ50mE]EF #
JIE 2 K4 i -k B BE
HEEK | {EBRIE—ER EEFS C N4 ZiE

SN | B rEt XESS Ih2 ZiE

XK | H)Il —3E YIS M4 =i




MET—2

10 LA T BF50mn 4734 2ot
[:4iv2 K& i S LS e
1iEE FiR RS c N4 31.87
2[R KREBID lfzD C N5 36. 65
3| EE B&F KSGHit NG 36.98
48 K% #BESs C 4 37.62
IR 1Tt =) U MVERAR ha 37.89
6|ATE EiE KSGHit N4 38.76
UAE 1 I H$HISC 4 38. 91
8|k B YyHIsc N4 39.29
9|FEE X= wfzD C I3 39.47
10| EEFBERER U MVERAR U\ 39. 48
M| &L #th #EFS C A 40. 21
12|l &3 SISV 4 40. 42
13| Ik # J—kscC NG 40 44
14| 1&% & KSGEi /M1 41.06
15| Ik £E XESS 4 41.40
16 | AR K KSG®Eit iy 42.19
17 b =3 SERKKHEE IN3 42. 44
18| &R & EEscC 4 42.76
19| 25 =AD SEEKKHE 4 45.82
20| % Rt #BrES C I3 47.25
AR S KSGHI N3 47.51
22|FA #EHX SEEKKHE h2 47. 66
KKK | E XESS N2 e
XXX | o X XESS N2 2iE
XXX | TR &K J—ksSC ha EiE




MET—2

10 LT B F200m{&E A A b L- 2t
[:4iv2 K& i S LS e
1mm g H$HIscC ha 2:58.07
2| Tk R/ TSRV Iha 2:58.78
KERE: I E KSGREit NG 3:06. 34
418K #5(Z KSG®it iy 3:06.97
5| Ik £E XESS ha 3:07.76
6| AFE KX KSGRI ha 3:10.02
T\ Ik # J—kscC NG 3:10.59
8| tkmE & KSGRit INT 3:13.97
9|ATE &EA KSGHEI ha 3:19.56
10|25k =40 SERKKHE Iha 3:19. 80
nigK B H$HISC N4 3:20. 21
12| %8 #X KSGHIt ha 3:24.76
13| &E RE J—kSC NG 3:25.09
14|\ E# X KSGHEit NG 3:28.22
158 4 KSGHit NG 3:28.54
16| %7BY  HEdx KSGRit N4 3:28.90
17880 {EK EH#sScC N5 3:30. 21
18|15 EE SERKKHE Iha 3:33.92
9| EE  #& SEEKKHE 4 3:42.12
20 | ATEA  #— SEAKKHE I3 3:42.23
21| /NEpfst KSGHEI N3 3:42.36
22|FA #EHX SEEKKHE \d 3:48.42
23| B EN KSGHEi /N3 3:50. 29
24 | E P KSGHIt N3 3:55. 57
KKK | LR & KSGHit N4 e
PP A% N 973 J—ksc N4 e
XX | HEARBI R HA SER KK E N3 RI&




MET—2

10 LLTF B4 x50m7Y)-1) - ‘”*
[:8iv2 K4 R S e e
1|&% -wm -2 -wH |EBESC 2:15.78
2|E@ -#HA -ARM - A KSGEI 2:22. 71
3| mm -k -E -BH |HHISC 2:26.38
4| mm -mmo - mE - | SEEKKSE 2:29.48




MET—2

10 LT BF4 x50mA b L-1)b- o
[:8iv2 K4 R S e e
1|%s A% -2 -\ |EBESC 2:32. 61
2@ s -8k -HE KSGEI 2:42.15
3| mm - -mk -EH | HHISC 2:44. 47
4| - A -wE | SEEKKSE 2:46. 25
XXX | - - - J—kscC i




MET—2

10 LL T ZF50mE it
[:4iv2 K& i S LS e
1&E FifF RS c N4 32.77
2| =HEFEDOM SERKKHE 4 33.16
3| &wE J—kscC N4 33.55
418K BE SERKKHE Iha 34.59
5|1k TEE #BEsC N4 34. 66
6|k %5 U MVERAR 4 35. 01
181 BF BEEscC 4 35.10
8|#EX BZE by 7o—FK ! 35.20
9|1 Fit SERKKHE ha 35.98
10£E =% U MVERAR ha 36. 01
N ZEREEE H#HISC 4 36. 05
2\Rs & SEAKKHE Iha 36. 32
13| #E &= Y47 ha 36. 42
14| P8R R8I RS C ha 36. 45
15| FR KZE U MVERIR N4 36. 62
16| 5% =A J—ksC NG 37.14
17| teEFEY 4 KSGHI N4 37.30
18 1A% YUh SEEKKEE /N3 37.58
19|80 %7 #EFS C A 37. 67
20 | #EFELD HHISscC N4 37.99
21|75k B SERKKEE ha 38.03
22 | 1EBEH T (X KSGHEI N3 38.05
23| ER KM SEEKKHE /N3 38.52
24\ R EZF J—ksC NG 38. 69
25| Fl§ ER XESS N3 38.72
26 | REERAE SERKKHE 4 39.14
27 |RiTE Bk HyHISC N4 39.36
28| RREAM U MVERAR N3 39.50
29| B8 XA U MIVERAR 4 39. 67
30| AKHE &M HHISC 4 39.92
31| #&%: K SER KK E N3 40. 31
R|FE TR TSRV 4 40. 54
B EEH EF E#Ssc I3 40. 88
3|xE BE TSRy h2 41.13
35 | EAT K U MVERIR N2 41.15
36| B k5 #BrES C h2 41.30
37| 5 H DR 324305 M4 41.33
38| IEHE #HE YYD N3 41.38

- 10 -




MET—2

10 LL T ZF50mE it
[:4iv2 K& i S LS e
39| xOmApE W e RRHTE ha 41.56
40|14 K% EEscC ha 41.71
4118 EE XESS N3 41.75
2 8H Fit YIHo N4 41.76
43| s ¥ YIH7 N3 42.00
44 1 BB EK SEEKKHE A 43.05
45 | Rk BRE tifzs c N4 43.33
46 | fEIE =i SEHEKIKHE ha 43. 45
47 | BTER EAK S ISVY A ha 43.72
48 | SEMEFITF s c N3 45.38
491 B BEEscC N3 46.19
50| LiF Hm U MVERAR h2 46. 66
51| PRy == RS c IN3 47.19
52| XM FE SEEKKHE /N3 47.32
53 |1k 18T KSGHit NG 49.05
54| &8 HE SEAKKHE Ih2 49.97
55| ¥ R XESS N1 51.26
MK ME B SEEKKHE N2 ZiE
XXX | = /M FAIAIVY Ay 37
XXX | BB M tifzs C N4 e
KKK 1B VAT J—kscC N4 e
XXX (| HE 2 J—kscC N4 e
XXX | EH BFER YIHD 4 EiE

- 11 -




MET—%

108 LT TFO0mE ik ¥ st
[:4iv2 K& i HE LS e
18l #F J—kscC ha 36.07
2| KA @R XESS ha 37.33
3E  EE wzD C 4 39. 01
485K BE SERKKHE Iha 39. 62
5|pE ER XESS IN3 39.73
6|F@ TE= YYD ha 39.87
1\HBx FZE by FBE—F N4 40. 46
8l U MVEAR 4 40. 50
9|18 =X U MIVERAR 4 40. 59
10|88 %7 #EmSs C ha 41.36
nEs & SER KK E ha 41.65
12| 5@ #F XESS 4 42.48
1B|EXk %5 U MVEIR Iha 42. 61
14|% =i EEscC I3 43.11
15| 8% %A J—bkscC N3 43. 47
16| &% BFE TSRTY N4 43.58
17/#%E =N J—ksSC I3 43.70
18 1A% YUh SEEKKEE /N3 44,11
19| FIs EBX XESS N3 45.30
20 [ RBERAE SEHEKIKBE i\ 45. 51
21| BH HiE Y47 ha 45. 64
22| ZR&ER U MVERIR I3 45.78
23 | BER  1EK AN =WTH7 Ih2 46. 46
24| E#E XM U MVEAR 4 47.33
25| 1EE #E YIHD N3 41.317
26 | 1EBEBH 1T (E KSGHEI N3 47.63
27|x@A RE=E TSRV N2 48.18
28 R HEZF J—kscC ING 48. 40
29 | g4 ¥ Y47 N3 48. 45
30| LF Hm U MVERIR Ih2 52.86
3| X MR tifzs c N4 54.15
32| #L #=x XESS N2 54.32
B | =B AR SERKKEE Ih2 55.12
XXX | = /M 324309 M4 37
MK | ME BiD SEEKIKEE Ih2 E-37
XXX | HKE 2 J—kscC N4 e
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MET—2

108 LT TF50mEik & it
[:4iv2 K& i S LS e
1| K@ B8R XESS N4 41.38
AR NS SERKKHE 4 43. 41
3| PUERE IR XESS N4 45.76
4| B+EETE #BrES C I3 45.87
5|18 =X U MIVERAR 4 45.95
68K BE SERKKHE 4 46.16
181 BF BEEscC 4 47.25
8| HH #ME XESS N4 47.43
IRy & EEKKEE ha 47.59
10| ERXEE HHISC ha 47.87
1| @ =& SEEKKHE 4 48.93
1% I3 SEHEKIKBE i\ 48.93
13| %k BEXK SERKKEE ha 48.94
14| B0 B SERKKHE ha 48.99
15| KE &7 HHISC 4 49.25
16| ER 3R’ KSGHEit N4 49.50
17| teEFEY 4 KSGHI N4 50. 05
18| P& K LISV YN 4 50. 09
19| F/F #®E KSGHEi 4 50. 60
20 8% ==A J—kscC NG 50. 96
21 |RiTE Bk H#HIScC N4 51.00
22| EAT U MVERAR Ih2 52.23
23| E =N J—kscC N3 52.82
24 &\ K SEAKKHE N3 53.01
25| Bl EE XESS N3 53.05
26| Wik HE gEEscC I3 53.57
21| Ik B4 SER KK E Ih2 54.60
28| 1LF HmM U MVERAR h2 55. 02
291 B RS c IN3 55.29
30| HH5E Bk TOTER N3 55.39
3| &H DB SISV 4 56. 24
2| | ¥k #BrES C h2 56. 69
3| xxM FE BHEKKHE /N3 58. 07
34| EtmEFIF s c N3 :00. 22
3B|LA E XESS Ih2 100. 58
36|k B KSGHEI 4 :01.77
37| PR EE RS c IN3 :02. 94
38| #fiL #s XESS 2 :03. 85

- 13 -




MET—2

N o 41

10 LI #ZF50mEF ik X #

JIE 2 K4 i L= B BE
39| AE HmE KSGEIt M 1:04. 82

XXX | BE M lifzs c N4 ZiE

XXX | EH = Yy iy =i

- 14 -




MET—2

108 LT ZF50mn” 4754 21t

[:4iv2 K& i S LS e
11 TEE s C N4 36. 47
AR NS SERKKHE 4 36.85
J|ER ;| KSGHit NG 37.79
4| FE FiF #BESs C 4 38.57
5| AlE #E KSGHEI ha 39. 11
6|1k ¥ SERKKHE 4 39. 36
T|HER BKZE U MVERIR N4 41.12
8| EREEE YyHIsc N4 41.22
9|FER =MW EEKKEE I3 41.74
1001l @ U MVERAR ha 41.95
11| #@E &= YIHD 4 42.16
12| BTER 0 #ES C h4 42.70
13| kR U MVERAR I3 43.49
14183 181 SERKKHE ha 44.91
15| Ik B4 SER KK E Ih2 4496
16| FIs EX XESS N3 46. 90
17| Fm/T E U MIVERIR N2 47.63
18| @& E=F EH#ScC IN3 48.38
19|55k B8 BEEscC I3 50.19
20 A1E Hx KSGRit INT 1:02. 01

KKK 1B VAT J—kscC N4 e

- 15 -




MET—2

10 LT ZF200mfE A AH - 3Tt
[:4iv2 K& i S LS e
1| K@ B8R XESS N4 2:45.83
2| =HEFEDOM SEHEKKEE Iha 2:51.20
S| U MVERIR NG 2:59.72
4| FIERE IS XESS NG 2:59. 98
5|8l &E J—kSC NG 3:03. 14
6| E+EAETE EEscC N3 3:05. 06
TR H1E SER KK E ha 3:08.77
8|tk FEY A KSG®Eit iy 3:10. 38
9|pTE ER XESS N3 3:11.76
10185 YHn SERKKHE /N3 3:12. 64
N REERAE SEHEKIKEE NG 3:13.76
12| 7 =H SEAKKHE I3 3:15.14
13 FKR Kz U MVERAR Iha 3:17.26
1418% %5 U MVERAR Iha 3:18.42
15| 8BR ®D KSGHEi 4 3:19.45
16| &% BFE TSRTY N4 3:20.16
17| %k =i SERKKEE Iha 3:21.66
18| P& 5KHI RS C Iha 3:22.26
19| B HE KSGREit NG 3:22.50
20 | 1ERE B 1T (% KSG®Eit I3 3:25.89
21| Z=REHERM U MIVERAR N3 3:29.40
22| 1B =N J—kscC N3 3:29. 66
23| Pk TR TSRV iy 3:31.39
24 |% IR BESscC NG 3:33.51
25| # B EEKKEE Iha 3:34.23
26| B XA MR Iha 3:37.67
27|me EF J—kscC N3 3:41.78
28 |[AE =R SEHEKIKHE ha 3:43.16
20| BE K EEKKEE N3 3:43.70
0| Ik BEXE SEEKIKHE N2 3:43.96
3 | FHE B SEHEKIKEE NG 3:47.60
32| =F HBR SEEKIKEE N2 3:56. 56
3| xxM FE BHEKKHE N3 4:05. 36
M| 1EE BN KSGEi NG 4:06. 14
MK | ME BiD SEEKKHE N2 ZiE
XXX | BB M tifzs C N4 e
XXX | EH BR YYD M4 k37

- 16 -




HMET—4
10mLLF 4 x 50m7Y)-Yb- a4

[:8iv2 K4 R S e e
1| &E+m- -5 4% -2% |EEFESC 2:17. 41
2| mm - -8k - =HE | SERKKKE 2:19.47
3| -EH -mE -#mE |J—bFSC 2:24.52
4|ER - kEE-EES-BE | KSGEIL 2:29.17

- 17 -




HMET—4
10mLLF ZF4 x50mi b L-Yb- a4

[:8iv2 K4 R S e e
186K @ &% -=#E | JEEKKHE 2:34.24
2|®n -E+E-E% -EE [#EESC 2:34.49
3| -EH -mE -#mE |J—bFSC 2:47.53
4|kmE BB -EBR O-4£HH | KSGEIL 2:47.58
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MET—2

11~128% BF50mB Rz ot
[:4iv2 K& i S LS e
1|#E EfE s C ING 28. 63
2| EH BX T TER NG 28. 82
3| Ik &3 SER KK E NG 29. 52
4\ Bk BB SERKKHE h6 29. 71
bl e & XESS NG 29. 71
6|k K& THOTEN NG 29. 82
Tk EZE SER KK E NG 30.24
8|#kE £X J—ksc NG 30. 25
9|1EBE K SERKKHE 6 30. 32
100f1IL TSRV NG 30. 94
NRA =S lfzD C NG 31.15
12| KE 4 XESS NG 31.35
1B ER 1K KSGHEit NG 31.39
W= £ EEscC N5 31.42
15:FK —8 BEEscC NG 31.54
16| =4F Bk TOTER NS 31.66
17/3dF &FE AT 1 KR Y] 31.82
18| BT8R &3 SEEKKHE NG 32.15
19 &8 2 TA T4 KR NG 32.39
20 1% BRE TSRTY INY) 32.72
ARE: 3 3 i TSROV NG 32. 81
22| g BC by 7O—FK NG 32.82
23|k BS IifzD C NG 32.89
24| FEK A J—ksC NG 33.00
25 =m0 & XESS NG 33.14
26 | =H ST SERKKHE 6 33.15
27 | 8280 —12 J—kscC NG 33.59
28|kt = XESS N5 33. 71
29| MR%  1EF S ISVY A h6 33.99
30 |#EW D XESS N5 34.01
3Lk ® BEEscC NG 34.04
2|=F MWE W e RRHFTE NG 34.06
B | WHE FEK AN =IFHT N5 34.09
34| k& #hiE GSMETEIR N5 34.17
3| Pk & SEEKKHE NG 34.18
36 | HEBEIE KR SISV NG 34.19
37\00R K HHISC NG 34.23
38| ZEE hFH THOTEN NG 34.51
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MET—2

11~128% BF50mE B ot
[[-1o4 K4 R A B s
9|8 #E YIH7 ING 34.78
40|78H FFE W e RRETE NG 34.87
M\ EE BE AN -WTH7 N6 35.10
42| £E@E —# EE P E 3N ING 35.19
42|50 BEE EH#SC N6 35.19
M EH ERE TSRV ING 35. 81
45 | i K5 TRV ING 36. 21
46 | F1E  EE5 wfizs C N6 36.26
47| =8 RE WD C ING 36.28
48| i EEE U MVERAR NG 37.42
49 | FHEFE AR by 7O—F NYG) 37.45
50| %R AKX Y4 ING 38.67
51| #&H &K AT 4KR ING 38. 85
52 [1£fk Zth SEEKKHE INB 39. 46
53| B =X SEEKKHE INB 39. 65
54| EH THE lfzs C MBS 39.72
55 | fEmE THER SEEKIKEE NG 42. 44
XXX | H S TSRV ING ZiE
X¥X | K& BEKKEE N6 EiE
XKIOK | ED KA SEHEKIKBE NG ZiE
KK | R Z2H AT 4KR ING ZiE
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MET—2

11~128% BF100mE B 42t
172 K& i HE LS e
1| £k &R #BESs Cc NG 58. 06
2|#x@ EIE #Em S C INB :03. 37
J|EH BX T TER NYG) :04.00
4|1 BEH EBX YIHo NG :05.12
5| E#E WX SERKKHE NG :06. 06
6| A £X J—kscC NG :06. 28
18# BR YIHD NG 107. 11
8| BR M&E KSGHEIt NG :08. 22
9|[FEH WX J—ksScC NG 108. 39
10| KB FHH U MVERAR h6 :08.76
1M[:EK —8 BEEscC NG :08. 95
12| R K TSRTY INY) :10. 07
13|FA A J—kscC NG 110. 19
141548 163k TYTEN N5 :10. 39
14K s U MVEAR N5 :10. 39
16| dbiF &S AT 14KR N6 11.43
17| %k R Y47 NG 112.42
18|k 2 24T 4KR NG 113.50
19| = ME W e RREE INS :13. 74
20 | EXER —1E J—ksc NG :14.10
21| &k 257 TSROV NG 114.13
22 BH B H$HISC ING :14.80
23| =R EHEH SER KK E NG 114, 81
24| k% i GSMETEIR NG 115.95
25| P fEE S ISVY A NG 116.22
26 [#EIL Z=F tifzD C ING 217.42
21|\ Wk FEK AN =WTH7 NG 117.50
28| Rk & SERKKHE N5 117.60
29 | kB A& J—kscC ING 17.79
30 | HEFRIKKED 324309 N6 :18.26
3| EiE BE AN =WTH7 NG 118.58
2|4L BE E#sSc 6 119.29
33| #E KN EH#scC N5 120. 31
34|7AM FF W e RRETE ING :20.76
B|EBH EHE TSRV NG :20. 86
36 | FEIE [EE U MVERIR NG :23.37
| =% HEe ifzD C N5 126.23
38| 1EHE %t SERKKHE NG :28.76

- 21 -




MET—2

11~128% BF100mBE Bz 424t

sz [ iR o ) s
9| EH 718 lifzs c ING 1:29.39

XXX |ED EA SEERKKHE N6 EiE

XK | K Z2H) AT 4 KR N5 Eig

XXX | FE KX HHISC N6 Eig
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MET—2

11~128% BF200mE B "
172 K& i HE LS e
1| #E%E K— ifzD C h6 2:16.57
2| Ik B3 SERKKHE NG 2:21. 61
3| FIER E SEEKIKEE N6 2:24.86
4 BH BR YIHo NG 2:30. 22
S5|RE #IK J—ksc NG 2:32.51
6|k%E 3hiE GSMETEIR N5 2:51.45
KXX | FE X YHISC NG e

- 23 -




MET—%

11~128% BF50mEik = ot
[[-1o4 K4 R A B w"E
1|7 A— wfzD C N6 31.24
VAR 3 3 ) BESs Cc NG 32.43
3|tk & XESS NG 33.13
41 IME KF 2D C N6 34.14
5|k EFK wfzD C N6 34.15
6|/ KE SEEKKHE NG 34.43
1|EH #HF gmES C N6 34.79
8| BH EHRE YIHo NG 35.23
9|1EE #X J—kscC ING 35.55
10| ZRIEHE A J—kscC NG 35.78
11&E% K& 7O TERA N6 36. 80
12|tk EZE BEKKSEE N6 36. 91
13|5=mk B3t XESS ING 38.64
148K &EX YYD INB 38.91
15| g K& £0IR3V0° N5 43.82
16| E#E £A BEKKSEE ING 44.07
17| %4 RAm Y40 ING 44.24
KIOK | A B3t KSGEi N6 ZiE
KXX | FE X YHISC NG e

- 24 -




MET—2

11~128% B F100mis ik = 1ot
] s R [

EMSsC h6 1:10.92
2 BHEKKBE NG 1:15.33
3 J—kscC NG 1:16. 11
4 BHEKKHE N6 1:16. 63
5 5D h6 1:18.60
6 KSG®EI NS 1:22.33
7 W DC Y4 1:22.39
8 5D NS 1:24.52
9 J—kscC NG 1:25.82
10 EmSC NG 1:25.94

- 25 -




MET—2

11~128% B F50mE ik F 20t

172 K& iR HE LS w"E
1hE & U MVERAR NG 33.99
2| 8% kKik lLfzD C NG 35.59
3| %k BEX SER KK E NG 36. 24
4 HHE %R lLifzD C NG 37.20
S5|FER JEH AT 1 KR N6 38.23
6|/hk EL #BESs Cc NG 38.75
T1|XKE f XESS ING 39.55
8| LB &AL SEHEKIKHE NG 39. 96
9|=W BA XESS N6 40. 38
10 (#1050 wfzD C NG 41.00
n|meg F5 IR0 N6 41.57
12| 5% B8 J—kscC N6 42.23
13| &/ BX AT 4KR ING 42.93
14|k BS vy 7O—FK NG 43.03
15| gk Jm TSRV NG 43.60
16 |25 R Y<Ho NG 43. 64
16| L@ —#t 24T 4KR ING 43. 64
18|k % EEscC IN5 43.69
19| 448 Kim E#sScC ING 43.78
20 | 1EBE EEK SEAKKHE e 44.01
21| #W D XESS ING 44.74
22 | % EE tifzs c NG 46. 46
23 | FHEFE AR by 7O—F NYG) 47.15
24| LR/ OEK Iy N5 48.85
25| i RE Y47 N5 48.94
26 |1EBE T9ER SERKKHE N5 53. 84

XXX | RE SER KK E NG EiE

P PARTE & KSGHEIt N6 e

KKK | Bk AN by 7o—FK ING ZiE

- 26 -




MET—2

1~125% BF100mE 5k E ot
172 K& iR HE LS e
1hE & U MVERIR NG 1:13.89
2| Ek BEX SERKKHE NG 1:17.99
3|#K kb wzD C NG 1:18.94
4| 1lLE #ER XESS NG 1:20.97
5| EHR EH AT 1 KR NG 1:22.19
6|EMA =B lLfzD C NG 1:22.75
1| 1R& Kig Y40 ING 1:23.71
8|/ BE #BRES C NG 1:23.87
9| L% ER SERKKHE NG 1:25.98
10| RRIBHEA J—ksScC NG 1:26. 35
1|5k B8 J—kscC NG 1:29.04
12| g F5 SISV NG 1:30. 43
13| #&1L #50 ifzD C N5 1:31.30
14| @ —#t 24T 4KR NG 1:32.45
15 | ##% KR E#sScC NG 1:33.49
16| e EC by FOo—F NG 1:33.69
17|k BX SERKKEE NG 1:34.08
XXX | kB SEEKKHE INS ZiE
KNOK | TERR A5t by 7O—FK NG EiE
XXX | FH HRA lfzD C N5 EiE

- 27 -




MET—2

1M~128 BF50mn 4734 25t
[:4iv2 K& i S LS e
1| £k &R #BESs Cc NG 29. 11
VAR"T: B PN SERKKHE 6 31.52
3|EH EBX YIHD NG 32.06
4\ A SERKKHE h6 32.11
5| Et+EEA #BEsC NG 32.63
6/NF  BE YYD NG 33.09
T/ K& IifzD C NG 33.26
8| LA #EH XESS NG 33.85
9| M KFn T TER NG 33.99
0= = EEscC N5 34.30
11|tk Wh wzD C NG 34. 44
12| t7iE KiE YIHD NG 34.54
13|k HRE #BESs C ING 35.95
14 1%L =9 lLfzD C NG 36.39
15| gk K# T TER INB 36. 54
16| e MAE J—kscC ING 36. 67
17| %k R Y47 NG 36.99
18| FEiIR E%E U MVERAR N5 38.94
19| %% AA TYTEN NG 39.36
20|kt £ XESS NG 39. 44
21| #:2 KM EH#scC N5 39. 71
22| K #E Y40 INS 39. 91
23 | FHEFE AR by FBE—F NYG) 42. 65
XXX [k SEAKKHE NG Eig
XXX | FmH BAE lifzD C ING e

- 28 —




MET—2

11~12% BF100mn° 4734 ot
[:8iv2 K4 R S e e
1| A& =i v ye; M6 1:05. 65
2|/ iy KE SEEKIKHE NG 1:10.10
3|k EW SEHEKIKEE NG 1:13.25
41BN THE iifsD C NS 1:15.45
5|@H  X# 7O TER M6 1:17.15

- 29 -




MET—2

11~128% BF200mBE AN A b- ke
172 K& i HE LS e
11&% B XESS h6 2:24.48
2| FE W HyHISC ING 2:27.84
3Bk EK wzD C NG 2:28.80
4| 8% Fab WD C N6 2:35.55
5| %k Ei4 EEKKEE NG 2:36. 46
6| E+EAEBA RS C NG 2:38.04
7(i@E AR XESS NG 2:38.48
8| R HF BESscC NG 2:39.39
9|/NEF  BE YD NG 2:40. 39
10| B TH IfzD C NG 2:40.53
11| EHE \EX SER KK E NG 2:40.56
12| ER EH 24T 4 KR 6 2:40. 82
13:F% M3 SERKKEE N5 2:41.19
14| KB F|H U MVERAR NG 2:44.33
15| R Kig YIHD NG 2:44.63
16| /MR BZE SEHEKIKHE ING 2:44.75
17| 8R &= KSGHEI NG 2:44.87
18| KE f) XESS NG 2:46.15
1902l Bk TSRV NG 2:47.95
20 HEE ®’X J—ksc ING 2:48.54
21| 88K K¥ T TER NG 2:51.74
22|k EKX YYD NG 2:52.27
23|k ESR KSGEI NG 2:53.56
24 &k 27 TSRTY NG 2:54. 36
25| AR ERak U MVEIR N5 2:54.49
26| 1B B4&E TSRV NG 2:57.36
27| gk =R TSRV NG 2:59.10
28 |BXEp —1E J—ksc ING 2:59. 48
29 |1EBE MAE J—kscC N5 2:59. 67
30| EHE Ak J—ksScC NG 3:01. 49
3| =k B XESS NG 3:02. 63
2 [BEH R HHISscC ING 3:02.77
3| FEE & SERKKEE N5 3:04.43
3| tK #EE YYD NG 3:06. 44
35 |{EHE BEKX SER KK E NG 3:11.63
36| 1k Fh SEAKKHE NG 3:33.77
3| EE EA SERKKEE N5 3:38.02
38|1EHE IHERE SERKKHE NG 3:48.33

- 30 -




MET—3
11~125% 5B F200m{E A AP L- 4T

[:4iv2 K& i S LS e
KKK | RH SiE TSR ING e
XXX || KRE SEEKKHE NG ZiE
XXX | M B KSGHit NG e
XXX [ED A SERKKHE h6 EiE
XXX |k SERKKHE NG EiE
XXX | BB At kyFO—F NG 37
KX | kB Z=H AT 14 KR N5 ZiE
XXX | FH HRA lfzD C N5 Eig
XX | =R BHEM SERKKHE 6 RI&

- 31 -




MET—2

1~128 B F4 x 50m7Y-1) - "
[:8iv2 K4 R S e e
1|#m -@Esm -0\ %% |EEFSC 1:55.18
2|m@E - -#x -\ | IULEEDC 1:56.05
3|\mw I -EE -EE | SEEKKEKRE 1:58.76
4lsk -mEE -ER 5B | TOTHER 2:10.83
blwm -&m %Ak &% |J—FkSC 2:13.69
6|z -HO0 -#% -su | KRHFSC 2:26.70
PP YHISC ZiE

- 32 -




MET—2

1~128 BF4 x50mA b L-1)b- o
[:8iv2 K4 R S e e
1| % -6 -£% @B |EBESC 2:07.65
20t % -m#E -®m)N | ILEDC 2:08.13
3| Em -mm -mm -@EE | SEEKKEE 2:10.97
4|mE -zpEm-FRe -#E |J—FSC 2:19.92
5z -#% -sL -0 | EHSC 2:41.93
PP HHISC ZiE

- 33 -




MET—2

1M1~12m% ZF50mE B o2t
[:4iv2 K& i S LS e
1| X B EEKKEE h6 29.70
2| AE B KSGEI NG 29.92
3| RE Wx U MVERIR NG 30.02
4 EBF BE 24T 4 KR N5 30. 41
bk =42 T TER NG 30. 45
6[ithE Fi SERKKHE 6 30.79
1|8% XT HyHISC ING 31.49
8|/t kP AN =IFHT 6 31.60
8|HME Mm% XESS 6 31.60
10| BR WK Y40 INS 31.95
"M|\HE #FF T TER NG 31.96
12| 7% #&H KSG®Eit NG 31.98
13| Rk = U MVERIR NG 31.99
14| &K B TYTEN NG 32.53
15|2@ B&E XESS NG 32.58
16 |25 P53k SEAKKHE NG 32.59
17\%% (& RS c ING 32.73
18| KiTHEmiE lLfzD C NG 32.75
19| BiE FK SEEKKHE Y] 32. 81
20| AR FERE YIHD NG 32.85
21|y B TSR NG 33. 04
22| mAUVKY lfzD C 6 33.05
23| A TYOTEN NG 33.23
24| KB XE J—ksC NG 33.24
25| EFF &M iLfsD C NG 33. 64
26 | 1EBE Rk YIHD NG 33.75
21|\ R#® %@ Y40 ING 33.77
28| 1EE B AN =IFHT7 NG 33. 81
29| FR W AT 14 KR ING 33. 87
30| /kk B EEscC N5 33.95
t|xi E AN =WTH7 NG 34.07
32| KINEER AN =IPHT 6 34.17
B HE =X TSRTY ING 34. 42
M| EBR EE EH#ScC NG 34.58
35 [EK IfZD C INB 34.82
36| AFE FF TOTER NS 35.12
3| E+EEET #BESs C N5 35. 65
38| #iK AL TSRy NG 35.79

- 34 -




MET—2

11~12% ZF50mE B o2t

[:4iv2 K& i S LS e
9 (E  RfE AT 1 KR ING 35. 91
40| LA FEH J—ksScC N5 35. 96
41| tEREE AN =WTHT ING 36. 24
42 | FRZE HIWR, XESS NS 36. 37
43| REMNSA lfzs NG 36.73
44|%2 MR R#SC NG 37.16
45| By &E AT 14 KR NS 37.23
46 =15 E#E W e RRHFTE NG 37.50
47 | £k &2 #BEsC ING 37.54
48 | B+ @EAEnk AN =797 NG 37.67
49 | R+t EEE W e RREE INS 37.84
50 [1£f% #E&/ TSRTY NG 37.94
51 |{kme FifH 324305 /N5 38. 21
52| Rk Mk SERKKHE N5 38.55
53| Mk #E SER KK E NG 38.62
54 AIE EXE lfzs C N5 38.69
55 |RTEF B TSR ING 39. 65
56 [1£7% BN AN =WTH7 ING 40. 32
57|k B SEEKKHE NG 41.16
58 | EXER RMI J—ksc ING 41.73
59 |#BE¢ = EEKKEE N5 42.53
60 | KARIEHN SERKKHE N5 42.57
61| =i FIiH TSRV NG 44.20

XXX | FEEER TSRTY NG 2iE

- 35 -




MET—2

11~12% ZF100mB B st

[:4iv2 K& i S LS e
1| ERZELY #BESs Cc h6 1:04. 31
2|1k EE XESS NG 1:05. 32
| FMRAE SEEKKHE Y] 1:06. 68
4| RE Bx U MVERIR NG 1:07.16
bk =42 TOTERN NG 1:07.59
6|S5m BE A T4 KR NS 1:08.75
1\ 5EE HR SER KK E NG 1:10.13
8|/t kP AN =IFHT 6 1:10.58
9| BN WK Y47 N5 1:10. 82
10 [ finig  iDTE SEHEKKEE NG 1:11.25
10| BiE 3K SEEKKHE Y] 1:11.25
12| 5K B TOTER NG 1:11.95
12| KiITHHE lifzD C ING 1:11.95
14|k £ AN =NTHT NG 1:13.08
151 2, AN =WTH7 NG 1:13.78
16| A= HSHE U MVERIR NG 1:14.52
17|37k D% AN =IFHT N5 1:15.72
18| KJIZEFE AN =NTHT ING 1:16. 14
19/ FX J—kscC NG 1:16.57
20 KB XE J—kscC NG 1:17.00
21 |FK =M lifzD C ING 1:17.17
2| KN % AN =77 NG 1:17.58
23| 3@ ®EF J—kscC NG 1:18.25
24| BR i 24 T4 XKiR NG 1:18.87
25| thEMER AN =IFHT N5 1:19.70
26 2  FfE AT 4KR NS 1:20. 58
27| B+ sk AN =WTH7 NG 1:22.00
28| R & KSGRit ING 1:22.43
29| B8 E# W e RRHFTE NG 1:24.36
30| fRE ik SEHEKKEE NG 1:24.38
3| REMBA iz s c NG 1:26.38
32| R+ I W e RRFTE NG 1:26.67
B|AE ER lfzs N5 1:29.01
M| wkE BN SEHEKKEE NG 1:31.23
35| e E SER KK E NG 1:32.11
36 | Bz ] AT 14 KR NG 1:33.08
3| XA EBF S ISVY A N5 1:36.79

XXX S R HyHISC NG e

- 36 -




MET—2

1M1~12m% ZF200mE B 0%
172 K& iR HE LS e
18K &kik lifzD C ING 2:18.06
2|k#% =R EEscC NG 2:20.58
S| IRIEELREE RS C NG 2:22.51
4IRS RS cC ING 2:32. 64
5/t BXEE AN =IFHT NG 2:33. 21
6|1k =2 AN =WFHT ING 2:36.39
T FEHSHE U MVEAR N5 2:42.47
8|#nAk (G RE#scC NG 2:46.28
9| tHEAMEE AN =IPHT N5 2:51.59
XXX | BE ®EF J—kscC N6 ZiE

- 37 -




MET—%

11~128% ZF50mE ik & ot
[:4iv2 K& i S LS e
1| R i XESS NG 30. 60
2| Rk BER KSGHit INS 34.01
3| kik EIK AN =WTH7 NG 34.20
4|EA  FiD SEHEKIKHE NG] 35.25
5|8 &k D C M6 35.58
6| AK KIB XESS N5 35. 81
1| tEBE BE SEEKKHE Y] 35. 86
8| PR AFE SEHEKIKHE NG 35. 89
9|/MR & #BEsC ING 36.53
10 [tk Rk YIHD NG 37.24
11| miE % XESS NG 37.49
12|BH# EKR #SES C NS 38.08
13| /i TEfR SERKKHE NG 38. 34
14| KR #F XESS h6 38.47
15|pk@E TYOTEN NG 38.72
16 | KI5 14 AN =IFHT 6 39. 59
17/MN%  #1E JHISscC M6 39.74
182 WE AT 4KR NS 40. 86
19| 8K &I TSRV INB 41.17
20 | FEMk B TSRTY INY) 41.26
21 |FK =M lifzD C ING 41.72
22| KB ¥IE TIOTER N5 41.92
23| Al K RH#scC NG 43.20
24| %2 R EH#ScC NS 43.99
25| & = s c /N5 45.17
26 | 8%ED  EMT J—ksc NG 45. 21
27 |1EBk  #& TSRV NG 45. 81
28| At+iEthE SISV N5 45.92
29| KARIEM SERKKEE N5 50. 96

- 38 -




MET—2

1~125% TF100mE ik & 12
172 K& i HE LS e

1| ERE EiE XESS NG :07.16

2| mE KW KSGEI NG 112.79

3| kik EIK AN =WTH7 NG 13.71

4| F& KR KSGHEit NG 214,26

5/mmeE %= XESS NG 119.53

6|k = U MVERIR N5 :20.70

TR &HX YHISC ING :20.75

8| MAVKY iifsDC ING :21.45

9BH EK #ES C ING :21.91

10| &k Kbk Y40 ING :22.28

11| KI5 AN =WTH7 NG :25. 31

12|l & KSGHEIt ING :33. 51

-39 -




MET—2

11~128% TF50mEk E 78tk
172 K& iR HE LS w"E
1|tk EE XESS ING 37.23
2|k EE SERKKHE IN5 38.09
3| kiR =R T TER NG 39.92
4115 F SERKKHE NG 41. 11
5| FiBHTE XESS ING 41.43
6|k HD AN =WTH7 NG 41.88
Tik R gmES C ING 42.60
8|EH MK Y47 NG 42.65
9| KHE WiE T TER N5 42.74
10K I lzs C IN5 43.33
| ®isHFH by FBE—F ING 43. 42
12| AKX K1 XESS ING 43.46
13|EA FK Y47 N5 44.24
14| £k BifH LIV ERYN IN5 45.05
[EAR3:: J. gEEscC ING 45.52
16| AR FF TOTER NS 45.94
16 | #8)1 DL Y47 N5 45.94
18| B+EET gEEsC IN5 46.10
19|k SER KK E NG 46.19
20| &% AR AN =IFHT 6 46.23
VAN S R} E#ScC NG 47.55
22| XA BF £h3R4300° IN5 48.08
23| FH B wzD C ING 48.47
24| 1LUE  Fhk J—ksC ING 48.55
25| =i T TSRV N5 53.28
XXX |k EE #EmS C N6 37
XKIOK | R mE FAIAIVY N6 ZiE
XXX | BEOGT: XESS N6 ZiE

- 40 -




MET—2

11~128% ZF100mE 5k ¥ 2ot
172 K4 iR HE B w"E
1| #fE = BEKKEE 6 1:18.79
2|tk EE SERKKHE NG 1:20. 95
S| IRIEELREE RS C NG 1:24.67
4| FEE ER AT 14KR NG 1:25.65
41 INE FD7E H#HISC N6 1:25.65
6|=@ B&E XESS 6 1:26.56
1|k % BEKKEE NG 1:26.57
8| tkmE MR AN =NPHT NG 1:30. 41
9|/t E TSRV NG 1:31.63
10K I lzs C NG 1:32. 60
1| B Hi& YYD ING 1:35. 68
12 | igm A EH kv Z7a—FK ING 1:36.16
13|%&E& AR AN =LT7H7 NG 1:38.76
14|tB &R E#sScC 6 1:39. 01
15| BE #FF T TER NS 1:40. 06
16Kl #HE £h3R4300° ING 1:41.28
17| 8280 €8I J—kSC NS 1:44.00
18| A+ EMmE LISV ERYN IN5 1:46. 89
XX | &L i £03R4300° NG EiE
XX | £ BE #BRES C N6 EiE

- 41 -




MET—2

11~12% ZF50mn 4754 2ok
[:4iv2 K& i S LS e
1@ & SEEKKEE NG 32.03
2| Bm B&% T4 T4 KiR N5 32.93
I B BRE RS C NG 33.18
4|78k #5A SERKKHE NG 33.63
S5/ 1E# %A #BES C NG 33.95
6|#E FO=x lfzD C NG 34. 44
T\ #6 TR Y40 ING 34.54
8| AR HE YyHIsc ING 36. 01
9| Rk = U MVERIR NG 36.09
10 | 1£/%  3ED AN =VFHT NG 36. 28
1|tk =2 AN =WTH7 NG 36. 91
12|18 FX J—ksc ING 37.42
B &E =4 TSRTY ING 37.67
14| E% &M ifsD C N6 38. 51
157k D% AN =WTH7 NG 39.25
16| k& %™ Y4 NG 39. 66
1750 #% YHISC ING 39.88
18|tk 2= AN =WTH7 ING 40. 07
19 %H Bk lfzD C NG 40. 61
20 ®TEF fBX TSRTY NG 41.39
21| M HEL Y47 NG 43.05
22| Al #E LISV YN N5 43.217
23| 1EBk GBI AN =WTH7 NG 4464
XK | kiR BE #BRES C F1 Eig
KKK | BBV XESS NG e

- 42 -




MET—2

1M1~12m% ZF100mn” 4754 ot
172 K4 i HE B "E

1| BE BH KSGHEIt NG 1:10.08

288K ki wzD C 6 1:11.67

3| BB BE RS C NG 1:12.92

4 =EH  iE RS cC ING 1:13.48

5|k #%A ERKKHE N5 1:15.93

6| ARE WA, XESS NS 1:34.96

- 43 -




MET—2

11~128% ZF200mE A A b ot
172 K& iR HE LS e
1|10k 2E XESS NG 2:32.18
2| KB B3R SERKKHE NG 2:33.59
J|EEELY BEEscC NG 2:33.62
4| RE =@ XESS NG 2:34.35
5|meE = XESS h6 2:43.34
6| RE W% U MVERAR NG 2:44.59
TR &HX HyHISC ING 2:45.87
8| MR ifE SEAKKHE NG 2:49.26
9| HmR AT 1 KR NG 2:49.93
10| AK KiH XESS NG 2:50. 24
11|Z2H BHE XESS NG 2:51. 11
12|tk BR SEHEKIKBE NYG) 2:51.69
13| & TSR NG 2:51.93
146 TERR SERKKHE NG 2:53.17
15|+ R Y47 NG 2:54.08
16|t fOz lLifzD C NG 2:54.87
171 K8 H; lfzs N5 3:00. 44
18| KiR #%F XESS NG 3:00.52
19| Rk DX AN =VFHT ING 3:01.12
20 ®KE RR=E XESS ING 3:01. 34
21| K& E®@ Y47 N5 3:01.96
22| 8K fHE E#sScC NG 3:02. 60
23 | Wi TE XESS NS 3:03. 04
24\ H#E  E RE#scC NG 3:03. 80
25| HE =R TSRTY ING 3:04.38
26 | K AL TSRV NG 3:07. 71
27| FX J—kscC NG 3:07.83
28| 2 &R RE#sScC NG 3:08. 67
29 | mEMAH by Fo—F N5 3:10. 39
30| Ef: Hhik YYD NG 3:12.75
31|HRZE  HIWA XESS NS 3:15. 46
2| FM BE HHISC NG 3:18.47
33| Ml K EH#sSC N6 3:24.03
M| REMLA s c NS 3:28.48
35| hEE  bFE SEEKIKEE N6 3:28. 54
36 | Pk HK SEAKKHE NG 3:29.76
37| 7Rk M TSRV NG 3:30. 40
38| RAZRIEM SERKKHE NG 3:39.47

- 44 -




MET—2

11~128% ZF200mME A - 43t
=t K4 2= P B f5&
39 | HHER FE SEHEKKHE N5 3:40. 37
0| =% EN SEERKKHE N5 3:46.79
XK | BB L TSR Ihe EE
XK | BEOHET- XESS 6 EHE
KK | RE 2 HHISC N6 EiE

- 45 -




HMeET—42
11~128 £ F4 X 50m7')-Y - T

[:8iv2 K4 R S e e
1@ @ -EBE-xe  HEEKEKEE 2:01.48
2|m -rmE-22 -REE (EFSC 2:02. 51
3| ximre - A -mAO -8k | IUFEDC 2:07.53
4|k -0y -EW -8F |HHISC 2:10. 46
5| s - &®E - RNKE- b | AN -WTHT 2:11.88
6|#t -E2 %K -8R |KRHSC 2:22.19
T #m -wm 8@ -8 |J—KkSC 2:23.49

- 46 -




MET—2
11~128 £ 74 % 50ms b L)L C

[:8iv2 K4 R S e e
1| msme - 5 - 0@ -xe  SEEKKEE 2:14.83
2| % -mER-E£ -E@EE |[EESC 2:16. 11
J|mAVD - sk -#vE -XIFE |IUEDC 2:21.07
4| e - tElE -k &R | AN -VTAT 2:23.16
5|k -0 -B% -®W |HHISC 2:27.32
6|mm -®m - -wm |[F—FSC 2:41.62
T\ -xE -#E -85k |RHFSC 2:42.59
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MET—2

13~148% BF50mE B g6t
172 K4 iR HE B w"E
1 ER 23 Y<H7 2 25.18
2| Rk X Y40 2 26. 51
3| = B U MVEAR 2 26. 85
4|iEER  HE XA T4 KR F2 27.00
5l#K AW lfzD C 2 27.21
6115 BT HHISC 2 27.38
T\ R iEE SEEKIKEE i1 217.51
8| iR #E SERKKHE 2 27.52
9|EBH =K HHISC 2 27.96
10E% =& AN =WTH7 2 27.98
11| KHF 4 Y47 F1 28. 04
12| =EMHST HHISC 2 28.33
13| 5+E B XESS f1 28.38
14|8% %t TSRy 2 28. 62
15| #hly E#& ERKKBE 2 28. 67
16| %8 H@X w#zD C F1 28. 84
17| %% R #BrES C f1 29. 01
18| %8 X HHISC 2 29.03
19 A #Ht gmES C F1 29.09
20|t KF5 ERKKEE 2 29.12
21| /MR BFH #ES C 2 29.19
22| tH Rk BEKKEE ot 1 29. 21
23| g W e RRETE 2 29.23
24 | FIER R W e ZREE 2 29.50
25 | #HE H$HISC H1 29. 62
25 | ZEE X GSMEETER 2 29. 62
25| =@ K XESS F1 29. 62
28 | EMRE XESS F1 29. 66
29 |[EME  SREE SEEKIKEE 2 29. 69
0|WwAa BA E#sScC 2 29.77
3N | ERKRERE gEEscC h2 29. 91
2|%M M@ kv Z7a—FK 2 30. 06
33| &R BE{C KSGHit # 1 30. 24
M| KR =t XESS 2 30. 27
35 Wl WE vy Fo—F H2 30. 34
| ER/I E iz s F1 30. 46
37| I UOM B GSMETEIR F2 30.78
38| FE &K lzs C &1 30. 80
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MET—2

13~148% BF50mE B g6t
172 K& iR HE LS e
39| KT E#sc 2 31.01
0|FEB BN T4 T4 KiR #1 31.06
40| 5L BRRE E#sScC h2 31.06
LYAR S UN lifzD C H1 31.10
43| B1F BEA AN =WTHT # 1 31.38
44 1FN B #EmSs C 2 31.39
44| INSERIE 3L iz s c h2 31.39
46 | thE  EER AN =IFHT 2 31.41
47\E RE by FO—FK f1 31.68
48 | 5 TR ifzs c 2 31.70
49| B #t TSRV h2 32.21
50 | ®hE EE XESS 2 32. 41
51| #8 F3 by FO—FK f1 32. 64
52 | 1EE e KSGEi 2 32.65
53| %% MmA J—kscC F1 32.80
54| B3k X=H J—kscC F1 32.98
50| KH & TSRTY # 1 33.13
56 | mHE BEAX XESS 2 33.14
57 | =Bk IRA BEEscC F1 33.24
58 |EE#E EAN KSGHEIt 2 33.45
59 |t #&3 #BrES C f1 33.72
XMOK | P & EEscC 2 EiE
XK | R AKX EHEKKEE h2 EiE
XXX kR K SERKKHE 2 Eig
KMOK R BX SERKKEE f1 EiE
XXX | HE Hl3 gEEscC #1 EiE
XXX | KF B XESS &1 e
XXX | FO X# HYHISC 1 ZiE
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MET—2

13~148% BF100mE B 53t
[:4iv2 K& i S LS e
1/E8 1 24 T4 KR 2 59. 36
2|17k #EF SERKKHE 2 59. 40
| #R AR lifsD C 2 59. 65
4108 = lLifzD C 2 59. 75
58 %8 HHISC th 2 100. 23
6| HHE EH tifzD C &1 :00. 28
11 H8 WX wzD C H 1 :00. 99
8| ALl HEE SEEKIKEE =e ] :01.06
9|dLiE MES YA T14KR H2 :01. 36
10| K#H A Y47 f 1 :01. 82
N FE %3 J—kscC H1 :02.77
12| KiBMot H$HISC 2 :02.79
13EH ik YHISC H2 :03. 26
14|78 %K HYHISC 2 :03. 65
15|f8%E %t TSRV 2 103. 89
16| 1HEE #RE H$HISC 1 :04. 80
177/ ke W e RRETE F2 :05. 04
18| @G RE SERKKHE 2 :05. 71
19| ®@E #FL BRSsC H1 :06. 04
20 | xR XESS 2 :06. 28
21| BBl & ifzs c 1 106. 30
22| 75k Rl EEscC f 1 :06. 38
23| FmH EX W e RRETE H 1 106. 44
24 11 ME by FOo—F 2 :06. 52
25| [RE IEHR Y47 th 2 :06. 67
26|tk =& AN =WFHT h2 :06. 95
27 | BT8R B W e RRETE 2 :07. 68
28| R R4 XA T4 KR 1 :07.76
29| #nK BE{C KSGHit # 1 :08. 00
0| E2ZE TSRy 2 :08. 03
31| BB BEA AN =W7H7 & 1 :08. 05
32| 4L R E#sSc th2 108. 18
33 |HRIE EFRK lifzD C 1 :09. 10
34| EITUN B GSMETEIR 2 :10. 37
35|thE EER AN =WTH7 2 110.70
36 | HEHE R iz s C th2 110. 89
KYRE P N HHISC F2 12.00
38| Bk &KX TSRy f 1 112. 60
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MET—2

13~148% BF100mE B oot
172 K& iR HE LS e
39| KB mA J—ksScC f 1 1:12.86
40 | 0EE BRI KSGHit 1 1:13.55
418k R&E J—kscC H1 1:14.07
42| KB & TSRTY # 1 1:15.90
43|% &3 #BrES C f 1 1:16.85
44| 5 Rtk wzD C f 1 1:16.87
45| tB #12Z HE f 1 1:03.31 OPEN
46| £H BE =]id F1 1:09.55 OPEN
KMOK R BX SERKKHE f1 EiE
XMOK | PR & EEscC 2 EiE
XKIOXK | BB HRK SEEKIKEE F2 ZiE
XMOK | IR AKX ERKKEE 2 EiE
XKMOK | R Hl #BrES C f1 EiE
XXX | B 'K GSMETEIR 2 -3
XXX | BFO KT YHISC &1 e
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MET—2

13~148% BF200mBE B 208
172 K& iR HE LS e
TnE % ifzD C 2 2:08.04
AR =PI ) HHISC 2 2:09. 97
3| Rk #E SEEKKHE F2 2:13.62
4| RS YHISC F2 2:14.00
5[/NB EBEX W e RRETE §1 2:15. 36
6(HHE & HHISC f 1 2:15.88
T| & E #BREsC F2 2:17.06
8|FHE X YHISC 2 2:17.09
9|tk =& AN =WTHT F2 2:21.08
10/f8%F £t TSRV 2 2:21.77
11|Ad @K wzD C H 1 2:22.92
12| 3H#H BX W e RRETE 1 2:24.32
BESN & lfzs f 1 2:24.86
14| JETIUOM B GSMEETER 2 2:29. 65
15 ;B8 B4 AT 14 KR M1 2:30. 86
16| =B BEA AN =TT 1 2:31.68
17 08 &= KSGHEit f1 2:31.95
18|88K 2 HHISC 2 2:35. 30
19 tB #z HE f 1 2:27.65 OPEN
20 | #E FE BfE F2 2:37.68 OPEN
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MET—2

13~148% BF400mE B L
[:4iv2 K& i HE LS e

1|1&£% ZEE YIHD H2 4:23.37

2|5FKk RS tifzD C 2 4:31.51

3| pIER SR BRSsC F2 4:35.06

4| mik 1EZE EESscC 1 4:37.52

5 BH# kB HYHISC H2 4:45.87

6=l @A EEscC 2 4:48.71

T|/h# =& #BREsC F2 4:55.08

8| hE %Y J—ksC 1 4:59.76

9| FFAFILEE KSGHEI F2 5:01.12

10| #RiEE F|K tifzD C &1 5:16. 16

1|\ wiE &= KSGHEi =e ]| 5:23.50
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HeET—4%
13~ 1428 BE100mE ik & 1o
172 K& i HE LS e
[RECE N KSGHRit H2 1:05. 01
2| =8 5E U MVERAR H2 1:06. 37
3| Rk X YIHD 2 1:11.18
4| KM B1E SEHEKIKHE 1 1:11.34
57BH# &K HYHISC H2 1:11.67
6% X HHISC 2 1:11.98
T|HHEE SR YHISC F2 1:12.11
8| E+E XESS t 1 1:12.16
9| HHEEAER HHISC H2 1:13.65
10/45% #A SERKKHE 2 1:14.14
mpn|e B@ EHEKKEE H 1 1:14.97
12| K R&E TSRTY 1 1:20.09
13|ME =B by FO—FK 1 1:21.15
14|&2% A EEscC f 1 1:22.79
15 &k #’E =] 2 1:16.64 OPEN
16| #EF =& BfE F2 1:23.22 OPEN
XXX | HH BXR H$HISC 2 EiE
KK | B &= E#scC 2 EiE
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HeET—42

13~14%% B 3200mE ik & "
Bz K4 R spr B [

1| FAIER  KGA KS Gt 2 2:19.30

2|8 BEF HHISC 2 2:22.36

JwA BmE £EHSC 2 2:32.75

4%y KX HYHISC 2 2:36.93

5 | # HEAER HHISscC 2 2:38.43

6|mA RE TSR =a ]y 2:50. 37

1= BE BE 2 2:46.82 OPEN
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MET—2

13~14% B 7100mFE ik = o
[:4iv2 K& i HE LS e
1EH mA SERKKHE §1 1:08.30
2| BB =M tifzD C 2 1:12.22
3| &t K& HYHISC 2 1:12.26
4 EEF =KX H$HISC 2 1:12.45
S5|/hML E1E SEEKIKEE H2 1:14.34
6 | SEFFEAEA EEscC f 1 1:14.37
1|5# #X SEEKKHE F2 1:15. 21
8| Ba BN lLifzD C 2 1:16.23
9o E3F #BESs C 2 1:16.37
10| 53 RiE J—ksc 2 1:17.27
1| FE gZ SEEKKHE H1 1:18.38
12| A BB XESS t 1 1:18.59
13|tk 2EZ TSRTY H2 1:19.82
14188 RX wzD C f 1 1:20. 43
15| HE Xith XESS 2 1:20. 88
16| kIl =% lLifzD C 1 1:20. 91
17|58 B lfzs f 1 1:21.25
18&€F K 24T 4KR 2 1:21.30
19| FN RER RS C F2 1:21.59
205K @il J—kscC F2 1:22.51
21| NERE S lfzs 2 1:22. 64
22| k80 #53 EEscC 2 1:22.66
23| KL B,z SEEKIKEE 1 1:22.69
24| B+ EEBX EESscC 1 1:23.33
25| FB RN 24 T4 KiR §1 1:23.45
26| kM Bt THOTEN 2 1:24.67
27| &1EF & BRSsC H1 1:24.84
28 gk K3 XESS 1 1:25.16
29 |1 KT EH#scC 2 1:25.26
30| Bk &KX TSRy f 1 1:26.98
3| &M Ri& lifsD C H1 1:31.36
32|k YHISC F2 1:32.53
33 | Al & #BEsC F2 1:38.16
M| EE £33} HE 2 1:25.57 OPEN
KKK | TE —XK XESS 2 e
XXX | FO X# HHISC 1 ZiE

- b -




MET—2

13~14% B F200mE jk ¥ o
172 K& iR HE LS &

1EH mA SERKKHE §1 2:27.03

2| 5@ EH wfzD C f 1 2:37.04

3| SEHH AR BRSsC H1 2:41.40

4| BB = lLifzD C F2 2:42.91

58K WX lfzD C H 1 2:44.19

6| =E RiE J—kscC 2 2:47.42

118 RX wzD C H 1 2:47.87

8| /NIRRT lfzs th2 2:55. 21

9|HME Bt lfzs c f 1 2:55. 46

10/£F% K 24T 4KR 2 2:55. 51

11\FB BN 24T 14 KiR F1 2:57.29

12| 8K D J—kscC H2 3:00.77

13|kl = lLifzD C 1 3:01.96

14| E#HE B4 KSGHEit 2 3:06.53

15| R #fh T TER F2 3:07.34

16| 28 £3} =]id 2 3:08.31 OPEN
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MET—2

13~14m% BF100mn” 4754 2ok
[:4iv2 K& i S LS e

11BN Z3t Y47 2 59.22

2| # L Kith XESS 2 1:00. 72

3| BEH WUE SEEKKHE F2 1:01.14

4|tk YHISC F2 1:01.53

5| = &KX YHISC H2 1:03.05

6|k B EEscC 2 1:04.13

T\ %Em X J—kscC H1 1:04.29

8| homE /= EESscC 2 1:04. 84

9| NNs BT H$HISsC 2 1:06. 37

10| fhiy =&/ SEHEKKEE 2 1:07.20

1M[=# &A wzD C 2 1:08.08

12/ #6K WX lfzD C # 1 1:09.24

13| %k &R #BESs C 1 1:10.23

14 B 3EK wzD C f 1 1:10. 63

15 &E & lifsD C H1 1:11.90

16 [E R4 T AT 4 KR t 1 1:13.80

17|EH &R TSRTY 1 1:15.57

18| % | vy 7O—FK 2 1:16. 44

19| F1% &#H tifzs c H1 1:17.28

20| IRE IKHE #ES C F2 1:17.37

21| = K XESS 1 1:17.62

22| A HB XESS f 1 1:19. 61

23 |[1Erk RES KSGHit F2 1:19. 71

24| % WX =]id 2 1:06.61 OPEN
KKK | FE EX YYD H2 e
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MET—2

13~14%% BF200mn" 9754 Bt
172 K& i HE LS e
1|1EE e YHISC F2 2:12.16
2= &BFXK HHISC 2 2:18.48
|k B RS C F2 2:18. 61
4| mik 1EZE #Bs C 1 2:24.65
5|k X J—kSC &1 2:29.75
6|#E —H KSGEi 2 2:30.43
1| EE &R BRSsC H1 2:33.00
XXX | BE =W E#sSc 2 Eig
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MET—2

13~148% B F200m{@E A A b b- o
172 K& iR HE LS e
1\ =% &k #BESs Cc f 1 2:17.57
2= &BFXK HHISC 2 2:19. 63
3| &t K& HYHISC 2 2:22. 61
41K B lLifzD C F2 2:23.69
5|tk EE YYD H2 2:24.49
6|/hith A #BESs Cc i1 2:27.27
T/dLE ERE AT 14 KR 2 2:27.36
8|HL Kih XESS F2 2:27.39
9|=F =&KX wfzD C 2 2:29.77
10| %8 W\X wfzD C f 1 2:30. 30
N E+E B XESS H1 2:30. 69
12| tHEE SR H$HISC H2 2:31. 64
13|EH =K HHISC 2 2:32.02
14| —# KSGHEit 2 2:33.01
15/NMB BEX W e RRHEE M1 2:35. 44
16[;thEA K5 SERKKHE 2 2:35.98
17|£H R SERKKEE §1 2:36. 55
18| A ¥ XESS f 1 2:36.75
19| A @K wzD C H 1 2:37.08
20| f0@ Z% ERKKEE f 1 2:38.32
21| =B K XESS f 1 2:39.51
22|15 EZE TSRy 2 2:40. 43
23 Wil WE by ZFo—F F2 2:40. 84
24| #5 K RE( KSGHEIt f 1 2:42.35
25| FEE  ShE SERKKEE 2 2:42.58
26| EE ER TSRV f 1 2:47.45
27 | BBEHE R iz s c 2 2:47. 81
28 | 1Erk  RE KSGHEit H2 2:48.49
29| TE RE by FO—FK 1 2:49.32
30| Bk &KX TSRy f 1 2:50. 47
31| xR FEh XESS F2 2:53.58
2|EHm EM KSGHEIt 2 2:58. 61
33| FAEH EEK lfzs f 1 3:01.03
M| KA HE TSRy f 1 3:12.94
35 | #% X =] F2 2:28.31 OPEN
6|&MA KE =]id F1 2:59.89 OPEN
XNOK kR #EX SERKKEE 2 EiE
KK | FR BX SERKKHE #1 EiE
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MET—2

13~148 BF200m@E AAM b- ok
JIE 2 K4 i -k B BE
MK | PR OEXK HAKIKEE b2 ZiE
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MET—2

13~148% B F400m{&E A4 L- o
172 K& i HE LS e

1=/ &8k #BrES C f 1 4:50. 43

2| Fth K5 HHISC 2 5:05.13

3| oMk E/= BRSsC F2 5:05. 66

4| E5H EH lLifzD C 1 5:06. 34

50O &3 #BrES C 2 5:07.98

6|/hith A #BESs Cc /1 5:10. 66

T|HHEE SR YHISC F2 5:16. 81

8| /hHk EE BESscC 2 5:20.10

9|/HME IR Y47 2 5:30. 01
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MET—2

13~14% B ¥4 x100m72Y-YL- o
[:8iv2 K4 R S e e
1|Br % 2% -#% | VYIHD 3:45.15
2| A% -#x 45 0% | EHEKKEE 3:56.58
3|=# -&% -mE -mH |(EEESC 3:58.18
4|Em -s =@ -%e |HHISC 3:59.03
@&k -#% -nm -z@ |UEDC 3:59. 61
6|mE - 8K -FHL | KSGEI 4:18. 34
T|mm -fE -k -BR |J—FSC 4:28.82
8|t -EE -#MEB -#H |[E 4:18.93 OPEN
PP K#SC ZiE
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Har—s
13~148% B4 x 100mA + b-Yb- ot

[:8iv2 K4 R S e e
1% -#&* -0 -45%  EEKKEE 4:21.02
2|ns -E® -=@m -®BM |HHISC 4:23.22
3|=# -wo &% -mE |EEESC 4:25.76
4\ -EE -Hes -Ek |[IUEDC 4:28.91
5|mg - gk - -#HFL | KSGERI 4:47.11
6|Z% &8 A2 -w®% |J—bFSC 4:53.53
T\EE -22 -#% -iE |QfE 4:52.22 OPEN
M| - - - YIHo e
XXX - - - R#ScC 2
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MET—2

13~14m% ZF50mE B i
[:4iv2 K& i S LS e
10| B8 XESS H 1 27.91
2| KE Bt U MNVEIR 2 28.06
KARINY NS SEEKIKEE M1 29.13
4| kE BEE TSRTY # 1 29. 30
5| B T GSMETEIR B 29. 33
6| SERAT HHISC #1 29. 54
T tEAEE AN =WTH7 F 1 29. 62
8| B #HE T AT 4 KR 2 29.72
9|/ BRSK SERKKHE 2 29. 82
10| KN B XESS #1 29.83
11| X5 RH XESS 2 29. 91
12| B+E iR AN =IPHT F1 30.13
13| Rk —1t KSGHEit # 1 30.23
14| K# 1/ T TER § 1 30. 29
15| B =Ei4 GSMEETER 2 30. 55
16 | R+E st EHEKKEE 2 30. 61
17|42 =M SERKKEE 2 30. 62
18| ¥R =& GSMETEIR F1 30.72
19| ZFBFHRE lfzD C 2 30.78
20| $hRU K Y EHEKKEE 2 31.02
21| TAP 5 5 EH#scC 2 31.15
22| BE BF 24T 14 KiR 2 31.28
23|Ik B HHISC 2 31.46
24| B¥E WK XESS F1 31.53
25| = K¥ XESS H1 3.7
26| K BHE ifzs c 2 31.87
27|k EF BEEscC 2 32.10
28| /NE7 D W e RRETE 2 32.11
29|t B #BESs C 2 32.14
0| KA =MW XESS 2 32.17
31| K HA XESS F1 32.217
2|KA BAF by Fo—FK F1 32.32
B|EHE EBX TOTERN 2 32.39
3| 1kE kE EEscC #1 32. 41
34| lLA EH XESS 2 32. 41
36 | hiE  #E TSRTY H2 32.42
3 &iE BA AN =VTFHT7 # 1 32.49
3| IEHE HE J—ksScC #1 32.73
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MET—2

13~14m% ZF50mE B i
[:4iv2 K& i S LS e
30 |k HEX GSMEETER 2 32.89
40| #LE FMH EEscC #1 33.03
41\ B TSRV F1 33. 11
2|1&Em 18 AN =IFHT F1 33.55
3 LHERE W e RRETE f1 33.80
44| INRR EHE EEscC #1 33.83
45 | Bl FIFE by ZFo—F H2 34.00
46 | NN S ELEIR by FOo—F # 1 34.55
47\HhR FE GSMETEIR H1 35. 36
48 | KFk bR XESS #1 35.79
XXX | FE EE W e RRETE F1 EiE
XXX | KA IR GSMETEIR F2 Eig
XXX | EH REF YIHD # 1 e
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MET—2

13~14m% ZF100mB B 4ot
[:4iv2 K& i S LS e
10| B8 XESS 1 1:01.27
2| KE Bt U MNVEIR 2 1:03. 34
3| FE EN HYHISC 1 1:04. 01
4| SHERFT H$HISscC 1 1:04.05
5| EH Eif #BEsC H2 1:04.70
6K £ HHISC f 1 1:05. 42
7| ®&E Bk TS3RTY H1 1:05. 48
8| E+AEG EHEKKEE 2 1:05. 57
9| ER BFE J—kscC 2 1:05. 71
10| fRE —71E KSGHEit & 1 1:06. 24
11|FHE ¥t AN =WTH7 2 1:06. 30
MxE 34 GSMETEIR t 1 1:06. 30
13| ZFAFEHE wfzD C th 2 1:06. 41
14| K15 KH XESS 2 1:07.85
15/ Ik & HHISC 2 1:08. 25
16| R+E R AN =IFHT F1 1:08. 34
17|tk Ef #BEsC F2 1:09. 30
18| B1E &M AN =WTH7 & 1 1:10. 26
1988 MA YIH¥D H1 1:10. 38
20| #FE F5H lifzs c 2 1:10.52
21| =& XK GSMETEIR H2 1:10. 66
22| IFHZCA J—ksScC 2 1:10. 80
23| lUAX B XESS F2 1:11.38
24 | {Efk  BATE SEHEKIKHE 1 1:11.43
25|k EBEE J—+hkscC 1 1:11.67
26| BFH HER IfzD C f 1 1:12.70
2] | & W T5RTY H1 1:12. 81
28 | i #E TSRTY F2 1:13.10
29| 85K BR 7O TER 2 1:13.81
0| KB ESF SEHEKKEE 2 1:14.19
3 |EE 12 AN =WTH7 H1 1:14. 46
32| KA BAF by FO—Fk 1 1:14.50
B|HKE EMW XESS th 2 1:14.95
M| TtHERES W e RRHFTE & 1 1:16.05
35 Rl FiFE vy Fo—F F2 1:16.15
6|E FE GSMETEIR t 1 1:17.95
37| k& HE HE 2 1:12.66 OPEN
/| ME  E HE F1 1:18.93 OPEN
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MET—2

13~145% ZF100mE B dow
JIE 2 K4 i -k B BE
XXX | kR BE T TER b2 ZiE
MK | EEHE HREE GSMETER 2 ZiE
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MET—2

13~14m% ZF200mE B 14t
[:4iv2 K& i S LS e

1| EAEAE AN =IFHT 1 2:17.23

2| BEUMD E#scC 2 2:18.48

3|FE #iE AN =WTH7 2 2:19.16

4| EE EiE #BrES C 2 2:20. 86

5/ BRE SERKKHEE H2 2:22.35

6|58 =¥ HHISC f 1 2:23.82

1|8% MA YIHD H1 2:26.13

8| HE =k GSMETEIR 2 2:27.01

9|E+E IR AN =TT B 2:21.317

10058 & XESS 2 2:28.48

1|\# 7&F W e RRHE H 1 2:32.78

12| B8 BRE AN =TT 1 2:37.31

13| IHCCA J—kscC 2 2:37.69

141 7% BB ifzs c 2 2:39. 65
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MET—2

13~148% ZFA400mE R "
172 K& i HE LS e

1|5 =3 U MIVERIR 1 4:45.58

2| F@E ¥t AN =WTH7 2 4:53.47

3| BB Ea GSMEETER 2 5:04.15

4| R EBR AN =TT F2 5:06. 75

S5|tklR BER EH#sScC H2 5:08. 95

6|1k RZE KSGHEit 2 5:13.28

T INFFEH KSGHit H1 5:25.59

- 70 -




MET—2
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